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RIS 1 1 XH <55 Vortex 1 1 34 2.44.320
2 6 kK E HHHEER 1 2 21 2.46.550
3 13 HP HALF HILHESR 2 3 13 2.46.950
4 4 KRB HAF HHEER 2 4 8 2.47.750
5 2 J\H Rk Vortex 1 5 5 247.770
6 14 FR =& BRI 2 6 2.47.960

Bif 7 11 HE —# FAKMEEIER 3 2.51.960
8 9 Bk K& BAAKMBEE I ER 3 2.57.600
9 5 IRT M HTHHER 3 3.07.270
10 3 RA)Il BE Vortex 4 2.54.790
117 KA K BEERZER 4 3.00.190
12 10 BK %1t B5) 1|2 4 3.09.290
13 15 BEH @il HLARHZER 5 2.56.620
14 16 HF BRF HMHEAPZER 5 3.02.330
158 E& EF BEERER 5 3.12.020
16 12 #wAL O B5) 1|2 6 3.06.560
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